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1.Vz=a+bieC, HEH/MHNZ=a-0bi, a,beR, i=V-1HER.
(@) TEIEH z MK |z| = Va2 + b2 i 2 |z)* = zZ.
(b) Yw =c+di e C, WHIEMH |zw]| = |z| - |w|, FHIEWH |25 = |z|F, k=2,3,....
(€) & z W/ |z| <1, THIEW X2, 2 WS HAET £ e Co

2. % (Y.} NTRALR, WA uy, HWTEN 2K, ke N. # (1-pL)X, = Y;, p €C
Hlpl <1, W4 py 5 02(k) MFRIER, B X, A TR

3. —;%},:E‘: AR(Z) 7‘7*% X =15X,.1 —056X;, + &, {gt} %Eﬂ;ﬁéﬁgo
(a) HIEM _EiR AR(2) R LK {X,} N PRt fE.
(b) I X, ) Wold %IR8 X = 32 06y PRI=IRE 0, i=1,2,3.
(o) WE X, MBI ZE ok (k), k=0,1,2.
(d) LF I, E80n 5 401 -5 X, Wold Fonh 2% 0; @A, i € N,



